B K ZiRERE
WL 2017 4F 10 A S&EH T 3 %1
DI iR A
IEF2 AL . 02110
HEEERNERAESMAERENERR . SEEIR L,
SR

EEEI.

1. BT, H A5 0% B C RS IIR R A R M 4 HEH RS 2R 0 7l B 4 2 ol 2
WE TR B E N E b

2. B/NEEIE SRS 2B By AR X O H A S SRR ndeksh, AR
Bt Fa i A A S hn 5 . AREA RIS L,

— EUUEES (AKEE 4 /NE, NE2 7,H8 5)
EENEFIHPOANFETPRE - RFEEEERN, FHEEHAREIR"H
ERRERER, HR . SRBRRHITL,

LRI T 180 B 23 LU A A B0 2 SR B 0 e T o0 A ) 2

A IEA B. Hs E C. &L D. FE KA
2. WA T SN A P U BE G B IR A5 B A CRRR
AL REL B. S2FEL C. il D. L&
3. FEEBEAG I Y oo ULELBR /)N | PR A A 36 1 1 25 1k K
A R B. i C. B D. I
4. ERH R RBENL LRV 2200 R EREE RAEERERREN,
A. F K5 B.x* K% C. t K58 D. Z K5

02110# O BEGE TS 55 1 70 (33 11)



ESrig =2 k1)

EEEI:
RO FIRI TE N R A R A L AR

—EEE(AKIEHE 10 /MR, BT 2 5,222 57)

5. BV HHUR R A A

6. 1E—41% /) .74 82 91 82 75 82 .67 82 .92 88 H K= |

7RG R o= 1 FRWAERZ

8. SIS MR A S DXL A R A A R

9. SRRV A SRR R AR Y SR

10. FIWAb TR 02 bRt Ttk

1L FREIES A bR ZE

12, IESA R SRR AR AR A

13 IEASHIZR LB LR x=p XSFRAN, o S IE S 5370 A 308, 2R OBU00 X AR, i1 2 DA 5 i it 1) 22
LS TR JFRRANE AR IGAARYS

14, J5 2 kR — bR s

= BB ((ARKBLE 4 N, BN 10 53,3 40 53)

15. KAAERINIERT T SRR B, 45 30 AR A%, U7E ZE e B — PR RAT IR T %,
DA RIS R 2 A () B AR R T i A~ BRLIR B 8 R BN RS8R T

16. RBP4 10 24 2 A P IE OS5 B AE SCRBTE A 3 6 I3 230, F it A 28 &
FOPRAR Bt RS- XA 1N FH [ 05 43 2 S PR rh 2 A A L

17. ARG 5 BUR M 437 b 43 B0h R I3 7

18. 24156 A5 B AH DAL 2807 RO B 52 e p o R o

M ZEITER (AKELHE 3 /NE, /3 10 57,3 30 4)

19. FEBOE T AR A B %t LB W 5| g A TSR B 4 R AR T IR R B R
@, it 140 44 LEEPE SRR —Fl, AL R R PR LR B 5 32 A28 A
24 N1 N9 AL10 K26 A i IR14)y J LR A ] 2316 1) 35 42 75 AR T 2

20. HEASHOR A= H LS 1Q, 2T A 1Y 1Q MM IEZS 434, =110, 6% =100, iZ B A H— 4>
n=>50 FYREASIN GG A3 ILF3%0CR 113, RZESHT A Y 1Q R4 —#FEID? (a=0.05)

021104 LoHRLE T 25 2 T (3L 3 1)

o



21. BRIFEAL I — R A AT A ST S AT 22 o =100, NI 5 £0275 25 i &l 65,83,

94,7088, ik R A% A MGIIME w 1Y 99% Y B A5 X ]

Rf -
X(2).05(1> =3.84, Xéos(zt) =9.49, Xéosu) =5.99 X(2).01(2) =9.21,
X(ZLOI(I) =6.63, X(z).05(5> =11. 10, X(zxosm =7.81 Xéos(e) =12. 60

Xz — 2 (fn }fﬁ)

(1) a=0.05Z, 05, =1.96  (2)a=0.01,0] Z,,,, = 2.58

X-Y
/=

o’ ol

1 2

21,2

ny n,

02110# OBEGE TS 55 3 T (33 11)





